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5. As shown in the picture, Shirley folds a square colored e N\ | - -\Vé
paper twice in half. She cut out an isosceles
right-angled triangle (painted part). Which one graph after the remaining part is expanded?
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15. Michelle tied the present with a ribbon. The length of the bow
she used is 60 cm. How many centimeters of ribbon does she  sem
use? (A)37 (B)118 (C)208 (D)222
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20. There are two kinds of watches A and B. Their total price is $7700. Pair the watch with a
gold chain. If the gold chain is hung on watch A, the total price is $5500. If the gold chain
is hung on watch B, the total price is $4000. What is the price of this gold chain? (A)$900
(B)$950 (C)$980 (D)$1200
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25. A bottle of beverage has two parts A and B. Part A is a cylinder, as
shown in the picture. Now the bottle contains some drinks. The height /B
of the beverage is 20 cm when placed. The height of the remaining
part is 5 cm when it is reversed. If the volume of the beverage bottle is
30000 cn’. What is the volume of the existing beverage in the bottle?
(A)20000 (B)22000 (C)24000 (D)26000
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